The Fastest Way of
Speaking English
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st 0j2|27]

TS syw

ASI2}OF2} BotCH ZAotHC =

no sooner A than B at the minimum price

ABIAIOF2} BT SHASHA|

hardly A before B perfectly

~5}2}0F2}

as soon as

~ol= S

While

S ENE

Since

-4

HotHS E O}

give the phone number
HMR|E E7|Ct

leave a message
¢letstct

make a contact

Mg 1 20

get the wrong number
DS 7| Ct

greet the customers

2 ekS aict

sign the contract

19 Hetstrt

get in touch with him
Etstct

meet halfway

7 et= o|lsiCt

carry out the contract
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ol X8 4 Us S8 7B
sh& 0l2[27]

47t HEHSE 224 ORf, D DU IAIRE L7iE

= 0O M-,

No sooner had she given him the phone number than he left a message to her.

L7t D240 A Heste 2E A2t ORAL H HehE 2R ZANS.

Hardly had I started my first job to make a contact to customers before | got the wrong number.

= 045 Bt7| 2} OfR} AL E o o,
As soon as he greets the customers, he tries to sign the contract.

L2217t 02t TR A2tsta{ 1 off A= SO, 22|29 ZHALOM 2| AH7TH2 2 EFYEE siH 012
While we just tried to get in touch with him, our competitor met halfway at the minimum price.

AS0| Aoks ™We olei2, 52 DA (A4S 2t st odlsh 2o 2.

=2 ="

Since they signed the contract, they have carried it out perfectly.
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st @A

until / not until

~20|

before

~0| 2|t Z0j|O0fF ~5}Ct

it is ~before

O 2| @0t ~&F Zio|Ct

it will not be long before
-4

AaofCt

make a mistake

=%ol= 1242 SCiotCt

deal with the complaining client
N2HS O UA| CHstt

treat the customer gently

e E EUct

end the business relationship
2| 2kS Mt

break the contract

INELE= g

visit a client

el X AtEHS ZCOistCt

invite a businessman

21240t S oot

negotiate with the client

el X AtEhS Hoistot
entertain the business acquaintance
DM S A ST}

bargain with the client
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Don't forget to
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N SO, P&, AHefet sEE EHES U510 may, might, would rather7b ALEEl D HED
el =etdte =S SiE0t WHES S5 20|= CHE AHA] Z2/0|M Hf = BH R &
9| oty 230 38 = A= 88HE 7|ELL
st 0j2|27)

el 23

Ut SYot= DMS CfsiCh 2RSS o, 24 Af2HR2E 8HoF gfL|Ct.
Once you make a mistake dealing with a complaining client, then you should apologize to him first.

SA10| 2ot B W7t DHE 0f JAA| Ciste AS L2 OHM|I2.
Don't forget to treat the customer gently until you end the business relationship.

AI0| Aets 27| Mofl O 1245 YEa0fet .
Before you break a contract, you should visit the client.

fel= oS ol O Al M AtEE ZCot=d & €2 28 o2 .
It will be two months before we invited the businessman to negotiate with him.

07t 54 AsiM A2l AtS 02| etot Moyat 7ol 2.
It will not be long before he entertains the business acquaintance to bargain with him.
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A3HA| B4 2o U 28

TS

~& OtL|2} --- &= ofCt
not only ~ but also -
~7} otL2} ---stch

not ~ but ---

L= 37t ~e 24 20t

I think he is going to be
~StAHL E= - S olCt
either ~ or ...

~E = - & 5f2| QO
neither ~ nor -+

-4

LIZ O|Es|Ct

use me

Lto| HA=Z O|&otCt
use my connections
Hol|lA =3= FCt

give you a hand

LIE &lS2 sttt

give me a hard time
Flofl EAX|Ck

be left behind

LIE A|2|stCt

leave me out

LEES AA|st2{ 10 O ALt
try to control my feelings



TEST o4

No.

A3HA| B4 2o U 28

SE A HHE EHES 3|1 should, used toZf A=l If
Si=Ct lEHSS 55 20= CHE XA Z2l0M Hi@= &

Jd= Y 0| E3S & otL|2t LY H=S7t2| 0| 834LCt.
Not only he used me but also he used my connection.

G2 d S FUS E ofLet & S Lt

You didn't give me a hand but just gave me a hard time.

L= 27t Fof| YAHZ| AL ofof| A|2lE 24 ZCf.
| think he is going to be either left behind or left out at all.

58 159 Z3d2 RHsted 1 StA| &, Ct &&6t2] otX| = LULCE.
They neither tried to control their feelings nor let them out all.
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Maybe we should travel

Tl ~3l|EtoF sHe

She should try to

EHs
28F 322 ofdsiCh

travel for 2 nights and 3 days
ZH|E Zo|c}

cut down the expenses
ZH|Z o =slct

estimate the expenses

rek

Z4EH|E ottt

get ready for the business trip
Z2 B NE ML}

write a report on the business trip
F=/7IE WLt

take a paid vacation

should, I think I might &
HE KAl Z2loA Bl 2=

{10
ret
4
o
Bl
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Ot

s

At

by myself (alone)
s2ts8lez

for yourself
A=

of itself

ojzl

beside himself

Jor

Tlo

~Gt=2} ’feeCt

busy herself

of etZstct

content myself

=4|E CHECt

address ourselves to A}
At7| 2 Xtk

to himself

ZH|E AtEotTt
calculate the expenses
FIE Bt

take a vacation
Ak stch
negotiate a contract
£ 7Tt

go on a business trip
AEAZ |ABICH
get rid of the stress



No.

S EF0| HHE BEHES 25|12 should, I think I might So| T{EHE1t K x8sl= =&
= Sf2Lh WESS 5§58 0= CHE XHA| Z20A BiR= B2t B =5l =8
of H8g &= A= S8HE 7|ELCh
sk 0|2 57|

2E =2

Olo} f2|= ZH|E £0|7| 2lal 28} 3 St 22(7|2] o{HsoF 22| = =2t
Maybe we should travel for 2 nights and 3 days by ourselves to cut down the expenses.

Jd4Ee 221 §o 2 ZAH[0|=22 5t 24EH| T afj2loF s 2.
She should try to estimate the expenses and get ready for the business trip for herself.

22/ 3|A AABIE 2T ZHIE 2EE S £ UL AH[HA2 =2 o 5L L
Our accounting system estimates unnecessary expenses of itself
so that you can cut them down on a monthly basis.

7t R 240 Tt EOME AR & et RFFIHE 78 2|CHH A Z410] OfLZ 2.
He is beside himself not to have written any report on the last business trip and took a paid vacation.

LiZt F7HE 7t7| ol 2| 27| ZH|E LHEol{Of off A HHittS.
| busy myself calculating the expenses for last quarter before | take my vacation.

A ASRYE SHLZ 0D REFIIIA| LA = 0fA 2rEA2{Qe.

_

| content myself to have negotiated the contract successfully and to take a paid vacation.

f2l= ZH|IE 20N DUS2 A LAE5He AIHS CHRIOF B2
We should address ourselves to cutting down the expenses and re-calculating them.

o

2 24S 7tH S 27| SN AERAS EE
When My boss goes on a business trip he always gets rid of the stress to himself.
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xeiotol 230 §8E + Ut 9832 720
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TjEss

~0f| &siA=

when it comes to ~ing
SfOtE ™ %E EOPEP
come close

9t ~5teq ok 2Lt

on the point of ~ing

H
ret

=]

=]

gade= Ustrt

work as a department manager
o= Astrt

work as a department chief
FAEe =2 S2IE|Ct

get promoted as a vice president
AZtE 20}

make it on time

Otzbe= ab==ct

make it by the deadline

~5t=H| U0 A
in ~ing

~3 2012}

on ~ing

DR 71|

by the deadline

UY S =L}

follow the schedule

o =t =0 2|}

run behind schedule
UY S =tolstict

check the schedule
US BTt

put someone in charge
s &t

take charge of work
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Zeidts 283 Sf20h WEHSS S5 20|= LHE XA 220N HiR= B R HE|
xeiotol 230 §8E + Ut 9832 720
SEA A
shs O|2|1E7| 2 HE 1

oy 2%
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When it comes to taking the responsibility for this project,
there is no one like Sam who works as a department chief for 3 years.

ORE 1 US 1 ANO{SHR| QLOtM 22|= StOtE{ ™ O HECH S0{ 2 # 310,
We came close to running behind schedule because no one was willing to take charge of the work.

SALL| EAYLZ 8F S22 = 2L, O ol AAOM REALE UoteE ALY 2.
On the point of getting promoted as a vice president of the head office,
he was sent to the overseas branch to work as a department manager.

0| 22 &= 7 2oz, o2& 22 = 02 B2 00 afi2.
Besides taking charge of this work, each of you must make it by the dead line.

Y= stAOpt, = 22| go| Ot dE %A et XS 2O 2.

—

On checking the schedule, he noticed that our team didn't make it by the deadline.
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Zetsto 220 M8

~ot AS YLt
forget ~ing

~st A2 7| stCt
remember to

~St A4S 7|stt
remember ~ing
LR AT

regret to

~SHH 212 = 3|5t}
regret ~ing

H
0| #2|=2 AEsICt

go over these numbers

2| M| E sict

conduct a research

0| 2E ofCt

take a memo (note)

At2HE StCH

make an inspection

225 AEo}Ct

examine thoroughly

oIS ZAbstCt

look into the cause

MBE ZO{ELC}

skim through the documents
US desict

give an instruction of work

rek

=]
T

s &elct

make use of an experience
0| 2=shi 2|t

get used to the work

£
mro
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O] BASEALHS

for this tragic incident
L7t 25 MEdst
mistakenly | chose

Jor



No.

YRAY 5 0|D5}7|, HES UUE EHES 0|1 1~14 XA 20|04 3l HE ST} B
ZESIe EU2 HECL YHES SS3 $0I= THE KAl 20N B2E EHLoL M|
xoto] 20 ¥ 4 s 882 J|2C)
ShS 0[2|=7] 2HAS 1

oy 2%

GL10] 2| M2 E Z™stY| W, O] #2353 &Qlsts AS YA 2ot

Don't forget to go over these numbers before you conduct a research.

= Of0tE AR Y S AlZlote SO 02 =% AS LJALL B2,
He might forget taking a memo while he made the inspection of the manufacturing area.

£35| 22/7} 0| 2SS 2elet off, HUsS| HESHOfP 5H= Ae 2F U2 OtM|L.
We all should remember to examine thoroughly especially when we go over these numbers.
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| remember myself looking into the cause for this tragic
incident and making an inspection of the spot last year.

L EA= M HIAMOAH 2S dee @ O MNESS 2OEZ| 2 AE 22 T3/t U0,
My boss now regrets not skimming through the documents
when he gave the new secretary an instruction of work.

L7t 2% EdEE O] Lol =53 2|2 47| WiE0f L F-S H2lA| 2 Aof tlish =27t FLIch
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| regret not making use of my experience as | never get used to the work mistakenly | chose.
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You need to stop and think sometimes to observe the trend when you make a blueprint.

A2 A=lo|| Bitiste A4S Y21 0| ZEHEOQ| 20 ot= 40| ouj?
Why don‘t you stop disapproving the plan and just take a part in working on this project.

el 0l AES ME = 2= 25t ot AN L.

We are now trying to share the work after making this plan.
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Just try working the machine, then you can work out the problem soon.
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1 Sorry for not explaining the situation earlier
but we’re so busy carrying out the plan for the upcoming festival.
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2 Sometimes it is worth giving it a second thought when you don't understand completely.

3 3 02| M2 d42t2 S 20 Clisl HYHGHE AF Qo
It is no use making an excuse for having such a foolish idea.

4 Jd= 0| 2|wY 2o ol OFR A= 227| W20, A|=l0| 2 O|HZ|H| & Atgfo] M3 OtL|o| L.
He is far from working out the plan as he got no idea on this renewal project.

5 Mr. Mac2 Z410| 25t 242 0lafighy, O] 7|2 ZHe =2 OI0|C|0|E dztal Y 5340| Y L.

Mr. Mac caught what you said and is equal to coming up with a great idea to avoid this crisis.
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Modern people have difficulty increasing the efficiency of the work without being stressed out.

MU SE SEAY 22te, 2FO0| e A 0 271 2102,
New comers can't not help being clumsy even though they are enthusiastic.

of 7t ah4t L7t 2AVLE 210ts| 5ot L A2 stale 2 2he 22| O|ali5tA| 2ot L.
| don't understand why he always keeps me from handling something well and doing my role.

Jds2 g U2 0|8sl YRAIZH0| EH2|= XS otx| LYotoFaie.
They shouldn't lay aside the work to spend time fooling around during working hours.

g0l 2| MS Clolf 0 1N0tIst UL, A&olM Lol sES =M L.
| appreciate you for doing your best and please keep on increasing the efficiency of the work.
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take a break
3 M2 2= A|&tsict
start on a new project
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get a chance
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leave it to me
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cancel the whole thing
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quit in the middle
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carry(put) out the policy
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hit bottom

£2 93|31 1~14 XtA| Zol0fA
o= CHE XHAl Z 20 M B2

FAE

Jor
I

o
tEO| I
There is no possibility
O L2 A4S =7 2ok

= A2 =
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Whenever our employees hit a slump, let them take a break.

A, OEME 7t M2 Z2HEZS A2 & 1, 19| 58S /Est= 7|81 52 40| §lo2.
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Actually, wherever he started on a new project, he never missed a chance to develop his ability.

FIt 0| BEER| MHIE 24T SHES Q0.

There is no possibility to cancel the whole thing whoever quits in the middle.
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She may well carry out the policy or start it from the beginning to set a better one.
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